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Grammar and punctuation

a). Punctuate the sentences using the apostrophe (’ ) to show
contraction.

* They will have to hurry or we will miss the bus.

* Do not feed the tiger as it might bite.

* | could not do my homework as | was too busy playing
outside!

b. Add a prefix from the list to this word to make an adjective.

happy
J mis
® un
J in

Reasoning

1. Zain is 2m 22cm tall.
Aliis 1m 91cm tall.
How much taller is Zain than Ali?

2. What is the perimeter of this rectangle?

5cm

10 cm

3. Sam buys 10 apples, 9 oranges and 6 bananas. ‘ 15p
The price of each fruit is shown.

How much will all fruits cost? i
L 12p




